ID SUMMARY	Bid Method	TYPE Code	BID NO	
Wisconsin Dept. of	Catalog Prices Written quote	M=Minority	2	
Transportation		S=Sheltered	Bids opened	
Purchasing	Phone / Verbal X Sealed Bid / Official	Workshop		
	Sealed Bid	· · · · · · · · · · · · · · · · · · ·		

			Vendor: Vinton Construc	Type= tion Company	Vendor: Willkomm Excavating &	Type= Grading Inc.	Vendor:	Type=
Item No.	Description	Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	CLEARING (201.0105)	8	\$250.00	\$2,000.00	\$450.00	\$3,600.00		
2	GRUBBING (201.0205)	8	\$250.00	\$2,000.00	\$475.00	\$3,800.00		
3	REMOVING OLD STRUCTURE STA 109+39.00 (203.0200)	1	\$8,000.00	\$8,000.00	\$8,500.00	\$8,500.00		
4	DEBRIS CONTAINMENT STRUCTURE OLT BRIDGE (203.0225.S)	1	\$1,870.00	\$1,870.00	\$2,000.00	\$2,000.00		
5	REMOVING PAVEMENT (204.0100)	200	\$10.00	\$2,000.00	\$9.12	\$1,824.00		
6	REMOVING ASPHALTIC SURFACE (204.0110)	146	\$2.00	\$292.00	\$6.54	\$954.84		
7	REMOVING CURB & GUTTER (204.0150)	135	\$5.00	\$675.00	\$3.79	\$511.65		
8	REMOVING CONCRETE SIDEWALK (204.0155)	50	\$6.30	\$315.00	\$7.29	\$364.50		
9	REMOVING FENCE (204.0170)	30	\$3.00	\$90.00	\$3.22	\$96.60		
10	REMOVING DELINEATORS AND MARKERS (204.0180)	5	\$5.00	\$25.00	\$26.83	\$134.15		
11	EXCAVATION COMMON (205.0100)	10,300	\$14.50	\$149,350.00	\$16.00	\$164,800.00		
12	EXCAVATION FOR STRUCTURES RETAINING WALLS R-40-464 (206.3000)	1	\$14,480.00	\$14,480.00	\$15,000.00	\$15,000.00		
13	TEMPORARY SHORING (206.6000.S)	282	\$117.00	\$32,994.00	\$46.43	\$13,093.26		
14	SELECT BORROW (208.1100)	125	\$25.00	\$3,125.00	\$31.17	\$3,896.25		
15	BACKFILL STRUCTURE (210.0100)	226	\$32.00	\$7,232.00	\$45.71	\$10,330.46		
16	FINISHING ROADWAY PROJECT 1693-43-70 (213.0100)	1	\$2,500.00	\$2,500.00	\$4,200.00	\$4,200.00		
17	BASE AGGREGATE DENSE 3/4-INCH (305.0110)	580	\$25.60	\$14,848.00	\$26.95	\$15,631.00		
18	BASE AGGREGATE DENSE 1 1/4-INCH (305.0120)	2,950	\$12.00	\$35,400.00	\$15.60	\$46,020.00		
19	CONCRETE DRIVEWAY 6-INCH (416.0160)	85	\$40.00	\$3,400.00	\$59.00	\$5,015.00		
20	DRILLED TIE BARS (416.0610)	90	\$7.00	\$630.00	\$7.50	\$675.00		

BID SUI

NO ERRORS

FOUND

The low bidder will be determined by verification or correction of this estimated total bid, using bid prices and estimated quantities

DATE July 8, 2013

OPENING TIME

10:30am

	BID SUMMARY Wisconsin Dept. of Transportation Purchasing	Bid Method Catalog Prices	Written quote Sealed Bid / Offic Sealed Bid	cial	TYPE Code M=Minority S=Sheltered Workshop	BID NO 2 Bids opened	DATE July 8, 2013	OPENING TIME 10:30am
			Vendor: Vinton Construct	Type= ion Company	Vendor: Willkomm Excavating &	Type= Grading Inc.	Vendor:	Type=
Item No.	Description	Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
	DRILLED DOWEL BARS (416.0620)	180	\$12.00	\$2,160.00	\$13.40	\$2,412.00		
22	CONCRETE PAVEMENT REPLACEMENT SHES (416.1725)	170	\$55.00	\$9,350.00	\$83.45	\$14,186.50		
23	ASPHALTIC MATERIAL PG64-28 (455.0120)	92	\$100.00	\$9,200.00	\$108.00	\$9,936.00		
24	HMA PAVEMENT TYPE E-0.3 (460.1100)	1,430	\$57.75	\$82,582.50	\$64.00	\$91,520.00		
25	INCENTIVE DENSITY HMA PAVEMENT (460.2000)	930	\$1.00	\$930.00	\$1.00	\$930.00		
26	ASPHALTIC SURFACE DRIVEWAYS AND FIELD ENTRANCES (465.0120)	35	\$81.61	\$2,856.35	\$88.00	\$3,080.00		
27	ASPHALTIC FLUMES (465.0315)	5	\$38.24	\$191.20	\$41.00	\$205.00		
28	CONCRETE MASONRY RETAINING WALLS (504.0500)	98	\$464.00	\$45,472.00	\$500.00	\$49,000.00		
29	BAR STEEL REINFORCEMENT HS RETAINING WALLS (505.0415)	8,880	\$1.05	\$9,324.00	\$1.15	\$10,212.00		
30	STRUCTURAL STEEL CARBON (506.0105)	117	\$23.50	\$2,749.50	\$25.00	\$2,925.00		
31	RUBBERIZED MEMBRANE WATERPROOFING (516.0500)	5	\$35.00	\$175.00	\$37.00	\$185.00		
32	WALL MODULAR BLOCK GRAVITY (532.0200.S)	435	\$23.25	\$10,113.75	\$32.00	\$13,920.00		
33	CONCRETE CURB & GUTTER 31-INCH (601.0331)	135	\$20.00	\$2,700.00	\$28.00	\$3,780.00		
34	CONCRETE CURB & GUTTER 18-INCH TYPE D (601.0407)	785	\$20.00	\$15,700.00	\$14.70	\$11,539.50		
35	CONCRETE CURB PEDESTRIAN (601.0600)	100	\$25.00	\$2,500.00	\$28.40	\$2,840.00		
36	CONCRETE SIDEWALK 5-INCH (602.0410)	750	\$6.00	\$4,500.00	\$7.00	\$5,250.00		
37	CURB RAMP DETECTABLE WARNING FIELD YELLOW (602.0505)	32	\$40.00	\$1,280.00	\$36.49	\$1,167.68		
38	RIPRAP MEDIUM (606.0200)	30	\$45.00	\$1,350.00	\$69.00	\$2,070.00		
39	STORM SEWER PIPE REINFORCED CONCRETE CLASS III 12-INCH (608.0312)	364	\$70.00	\$25,480.00	\$73.00	\$26,572.00		
40	STORM SEWER PIPE REINFORCED CONCRETE CLASS III 18-INCH (608.0318)	278	\$71.00	\$19,738.00	\$90.00	\$25,020.00		

	BID SUMMARY Wisconsin Dept. of Transportation Purchasing	Bid Method Catalog Prices	Written quote Sealed Bid / Offic Sealed Bid	al	TYPE Code M=Minority S=Sheltered Workshop	BID NO 2 Bids opened	DATE July 8, 2013	OPENING TIME 10:30am
			Vendor: Vinton Constructi	Type= on Company	Vendor: Willkomm Excavating &	Type= Grading Inc.	Vendor:	Type=
Item No. Description		Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
41 MANHOLES 8-F	T DIAMETER (611.2008)	1	\$12,000.00	\$12,000.00	\$25,000.00	\$25,000.00		
42 MANHOLE COV	ERS TYPE J (611.0530)	2	\$340.00	\$680.00	\$400.00	\$800.00		
43 INLET COVERS	ГҮРЕ Н (611.0624)	5	\$500.00	\$2,500.00	\$680.00	\$3,400.00		
44 INLET COVERS	TYPE MS (611.0642)	4	\$350.00	\$1,400.00	\$450.00	\$1,800.00		
45 INLETS 4-FT DIA	METER (611.3004)	7	\$1,950.00	\$13,650.00	\$3,000.00	\$21,000.00		
46 INLETS MEDIAN	I 1 GRATE (611.3901)	2	\$1,700.00	\$3,400.00	\$1,900.00	\$3,800.00		
47 INLETS 2x3-FT (611.3230)	1	\$1,100.00	\$1,100.00	\$1,750.00	\$1,750.00		
48 ADJUSTING MA	NHOLE COVERS (611.8110)	2	\$350.00	\$700.00	\$700.00	\$1,400.00		
49 PIPE UNDERDR	AIN WRAPPED 6-INCH (612.0406)	170	\$10.00	\$1,700.00	\$26.00	\$4,420.00		
50 FENCE SAFETY	(616.0700.S)	205	\$2.25	\$461.25	\$2.70	\$553.50		
51 MOBILIZATION	(619.1000)	1	\$117,000.00	\$117,000.00	\$100,000.00	\$100,000.00		
52 DUST CONTROL	SURFACE TREATMENT (623.0200)	8,000	\$0.01	\$80.00	\$0.20	\$1,600.00		
53 WATER (624.01	00)	14	\$30.00	\$420.00	\$74.00	\$1,036.00		
54 SALVAGED TOP	SOIL (625.0500)	10,660	\$1.31	\$13,964.60	\$1.70	\$18,122.00		
55 MULCHING (62	7.0200)	11,750	\$0.12	\$1,410.00	\$0.17	\$1,997.50		
56 EROSION BALES	5 (628.1104)	180	\$9.00	\$1,620.00	\$10.00	\$1,800.00		
57 SILT FENCE (628	3.1504)	2,310	\$1.55	\$3,580.50	\$1.80	\$4,158.00		
58 SILT FENCE MA	INTENANCE (628.1520)	2,310	\$0.01	\$23.10	\$0.30	\$693.00		
59 MOBILIZATION	S EROSION CONTROL (628.1905)	1	\$50.00	\$50.00	\$375.00	\$375.00		
60 MOBILIZATION	S EMERGENCY EROSION CONTROL (628.1910)	3	\$50.00	\$150.00	\$52.00	\$156.00		

	BID SUMMARY Wisconsin Dept. of Transportation Purchasing		Written quote Sealed Bid / Offic Sealed Bid	ial	TYPE Code M=Minority S=Sheltered Workshop	BID NO 2 Bids opened	DATE July 8, 2013	OPENING TIME 10:30am
			Vendor: Vinton Constructi	Type= ion Company	Vendor: Willkomm Excavating &	Type= Grading Inc.	Vendor:	Type=
Item No.	Description	Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
61	EROSION MAT CLASS I TYPE B (628.2004)	4,770	\$1.45	\$6,916.50	\$1.15	\$5,485.50		
62	EROSION MAT CLASS III TYPE B (628.2033)	1,510	\$5.10	\$7,701.00	\$4.00	\$6,040.00		
63	INLET PROTECTION TYPE A (628.7005)	12	\$10.00	\$120.00	\$95.00	\$1,140.00		
64	INLET PROTECTION TYPE C (628.7015)	13	\$35.00	\$455.00	\$51.00	\$663.00		
65	INLET PROTECTION TYPE D (628.7020)	2	\$75.00	\$150.00	\$107.00	\$214.00		
66	TEMPORARY DITCH CHECKS (628.7504)	170	\$5.80	\$986.00	\$6.40	\$1,088.00		
67	TRACKING PADS (628.7560)	3	\$1,000.00	\$3,000.00	\$1,300.00	\$3,900.00		
68	ROCK BAGS (628.7570)	80	\$9.00	\$720.00	\$11.00	\$880.00		
69	FERTILIZER TYPE B (629.0210)	11	\$50.00	\$550.00	\$64.00	\$704.00		
70	SEEDING MIXTURE NO. 20 (630.0120)	200	\$4.10	\$820.00	\$4.80	\$960.00		
71	SEEDING MIXTURE NO. 70 (630.0170)	20	\$52.00	\$1,040.00	\$81.00	\$1,620.00		
72	SEEDING TEMPORARY (630.0200)	180	\$1.67	\$300.60	\$3.60	\$648.00		
73	TREES EASTERN ARBORVITAE B&B 1" CALIPER (632.0101.01)	17	\$100.00	\$1,700.00	\$192.00	\$3,264.00		
74	TREES RED BUCKEYE B&B 1" CALIPER (632.0101.02)	6	\$100.00	\$600.00	\$270.00	\$1,620.00		
75	SHRUBS MONTGOMERY BLUE SPRUCE CG, 3' (632.0201.01)	18	\$120.00	\$2,160.00	\$80.00	\$1,440.00		
76	SHRUBS NORTHERN BAYBERRY CG, 3' (632.0201.02)	12	\$22.00	\$264.00	\$81.00	\$972.00		
77	SHRUBS REDOSIER DOGWOOD CG, 3' (632.0201.03)	29	\$22.00	\$638.00	\$57.00	\$1,653.00		
78	LANDSCAPE PLANTING SURVEILLANCE AND CARE CYCLES (632.9101)	20	\$100.00	\$2,000.00	\$500.00	\$10,000.00		
79	POSTS WOOD 4X6-INCH X 10-FT (634.0610)	6	\$50.00	\$300.00	\$59.00	\$354.00		
80	POSTS WOOD 4X6-INCH X 12-FT (634.0612)	15	\$50.00	\$750.00	\$64.30	\$964.50		

	BID SUMMARY Wisconsin Dept. of Transportation Purchasing		Written quote Sealed Bid / Offici Sealed Bid Vendor:	ial Type=	TYPE Code M=Minority S=Sheltered Workshop Vendor:	BID NO 2 Bids opened Type=	DATE July 8, 2013 Vendor:	OPENING TIME 10:30am Type=
I			Vinton Constructi		Willkomm Excavating &		vendor.	туре-
ltem No.	Description	Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
81	POSTS WOOD 4X6-INCH X 16-FT (634.0616)	9	\$50.00	\$450.00	\$69.70	\$627.30		
82	POSTS WOOD 4X6-INCH X 18-FT (634.0618)	1	\$55.00	\$55.00	\$80.00	\$80.00		
83	SIGNS REFLECTIVE TYPE II (637.0202)	183.68	\$13.98	\$2,567.85	\$20.00	\$3,673.60		
84	MOVING SIGNS TYPE II (638.2102)	1	\$45.00	\$45.00	\$200.00	\$200.00		
85	TRAFFIC CONTROL (1693-43-70) (643.0100)	1	\$11,704.00	\$11,704.00	\$12,500.00	\$12,500.00		
86	TRAFFIC CONTROL DRUMS (643.0300)	4,500	\$0.30	\$1,350.00	\$0.30	\$1,350.00		
87	TRAFFIC CONTROL BARRICADES TYPE III (643.0420)	500	\$1.00	\$500.00	\$1.05	\$525.00		
88	TRAFFIC CONTROL WARNING LIGHTS TYPE A (643.0705)	960	\$0.35	\$336.00	\$0.40	\$384.00		
89	TRAFFIC CONTROL WARNING LIGHTS TYPE C (643.0715)	1,600	\$0.40	\$640.00	\$0.40	\$640.00		
90	TRAFFIC CONTROL ARROW BOARDS (643.0800)	170	\$35.00	\$5,950.00	\$36.00	\$6,120.00		
91	TRAFFIC CONTROL SIGNS (643.0900)	1,820	\$1.00	\$1,820.00	\$1.05	\$1,911.00		
92	TRAFFIC CONTROL SIGNS PCMS (643.1050)	85	\$100.00	\$8,500.00	\$108.00	\$9,180.00		
93	GEOTEXTILE FABRIC TYPE HR (645.0120)	550	\$3.50	\$1,925.00	\$4.50	\$2,475.00		
94	PAVEMENT MARKING EPOXY 4-INCH (646.0106)	2,400	\$0.35	\$840.00	\$5.25	\$12,600.00		
95	PAVEMENT MARKING EPOXY 12-INCH (646.0136)	60	\$8.50	\$510.00	\$10.00	\$600.00		
96	PAVEMENT MARKING WORDS EPOXY (647.0356)	6	\$250.00	\$1,500.00	\$200.00	\$1,200.00		
97	PAVEMENT MARKING CURB EPOXY (647.0456)	160	\$8.50	\$1,360.00	\$7.50	\$1,200.00		
98	PAVEMENT MARKING YIELD LINE SYMBOLS EPOXY 18-INCH (647.0526)	34	\$10.25	\$348.50	\$43.00	\$1,462.00		
99	PAVEMENT MARKING DIAGONAL EPOXY 12-INCH (647.0726)	30	\$8.50	\$255.00	\$10.00	\$300.00		
100	PAVEMENT MARKING CROSSWALK EPOXY 12-INCH (647.0776)	150	\$8.50	\$1,275.00	\$10.00	\$1,500.00		

	BID SUMMARY Wisconsin Dept. of Transportation Purchasing	Bid Method Catalog Prices	Written quote Sealed Bid / Offic Sealed Bid Vendor: Vinton Construct	Туре=	TYPE Code M=Minority S=Sheltered Workshop Vendor: Willkomm Excavating &	BID NO 2 Bids opened Type= Grading Inc.	DATE July 8, 2013 Vendor:	OPENING TIME 10:30am Type=
Itom No.	Description	Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
Item No.	Description		Unit Price	TOLAI	Onit Price	TOLAI	Unit Price	Total
101	CONSTRUCTION STAKING STORM SEWER (650.4000)	11	\$68.00	\$748.00	\$60.00	\$660.00		
102	CONSTRUCTION STAKING SUBGRADE (650.4500)	5,130	\$0.01	\$51.30	\$0.30	\$1,539.00		
103	CONSTRUCTION STAKING BASE (650.5000)	5,130	\$0.48	\$2,462.40	\$0.60	\$3,078.00		
104	CONSTRUCTION STAKING CURB GUTTER AND CURB & GUTTER (650.5500)	905	\$0.70	\$633.50	\$1.05	\$950.25		
105	CONSTRUCTION STAKING STRUCTURE LAYOUT R-40-464 (650.6500)	1	\$817.00	\$817.00	\$800.00	\$800.00		
106	CONSTRUCTION STAKING SUPPLEMENTAL CONTROL (650.9910)	1	\$750.00	\$750.00	\$520.00	\$520.00		
107	CONSTRUCTION STAKING SLOPE STAKES (650.9920)	5,130	\$0.30	\$1,539.00	\$0.60	\$3,078.00		
108	SAWING ASPHALT (690.0150)	50	\$1.25	\$62.50	\$3.50	\$175.00		
109	SAWING CONCRETE (690.0250)	250	\$2.50	\$625.00	\$4.50	\$1,125.00		
110	CLEANING BEAM SEATS (SPV.0060.01)	8	\$181.00	\$1,448.00	\$200.00	\$1,600.00		
111	ADJUSTING WATER VALVE BOXES (SPV.0060.02)	1	\$200.00	\$200.00	\$400.00	\$400.00		
112	RIGHT-OF-WAY GATE (SPV.0060.03)	2	\$1,100.00	\$2,200.00	\$4,000.00	\$8,000.00		
113	SALVAGED RIGHT-OF-WAY GATE (SPV.0060.04)	1	\$400.00	\$400.00	\$4,000.00	\$4,000.00		
114	WE ENERGIES SIGN SPECIAL (SPV.0060.05)	4	\$899.00	\$3,596.00	\$6,300.00	\$25,200.00		
115	EXPOSING EXISTING UTILITY (SPV.0060.06)	2	\$1,000.00	\$2,000.00	\$450.00	\$900.00		
116	TIMBER FENCE SPECIAL (SPV.0090.01)	119	\$11.00	\$1,309.00	\$175.00	\$20,825.00		
117	SPLIT RAIL FENCE SPECIAL (SPV.0090.02)	686	\$11.00	\$7,546.00	\$55.00	\$37,730.00		
118	SAWING CURB HEAD (SPV.0090.03)	65	\$18.00	\$1,170.00	\$19.50	\$1,267.50		
119	CONSTRUCTION STAKING CONCRETE SIDEWALK (SPV.0090.04)	100	\$1.00	\$100.00	\$1.05	\$105.00		
120	PREFABRICATED TIMBER BRIDGE DECK AND RAILING (SPV.0105.01)	1	\$22,350.00	\$22,350.00	\$24,000.00	\$24,000.00		

	BID SUMMARY Wisconsin Dept. of Transportation Purchasing		Written quote Sealed Bid / Offi Sealed Bid	cial	TYPE Code M=Minority S=Sheltered Workshop	BID NO 2 Bids opened	DATE July 8, 2013	OPENING TIME 10:30am
			Vendor: Vinton Construc	Type= tion Company	Vendor: Willkomm Excavating 8	Type= Grading Inc.	Vendor:	Type=
Item No.	Description	Estimated Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
121	GEOTEXTILE FABRIC TYPE FF (SPV.0180.01)	60	\$5.00	\$300.00	\$7.50	\$450.00		
122			_					
123			_					
		GRAND TOTAL		\$828,877.90		\$1,009,599.04		
				Checked - 7/8/13		Checked - 7/8/13		
		CONTACT PERSON	Jame	es J. Maples	Nicholas	A. Willkomm		
		DATE / PHONE NO	7/8/2013	(920) 682-0375	7/8/2013	(262) 878-0877		
		PAYMENT TERMS						
		SHIPPING TERMS						
		DELIVERY TERMS						

ADDITIONAL INFORMATION:

